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Medalhiti

Mesti vindur
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1 47| 8.1 1.5 14.4| 18.0
2l 02 57 -1.0 9.9 15.0
3_-02 27| -3.6 6.3| 10.0
4 341 51| -1.5| 0.0] sn 99| 14.0
5| 2.0/ 5.8 -25 0.0/ sn 2.2| 12.0
6| 70 8.7 1.8/ 0.0/ sl 10.0, 17.0
7|87 105/ 6.5| 43.6] ri 7.0| 17.0
8 59| 104 2.9 15.2| i 23| 5.0
9| 75| 10.5] 3.0/ 89| i 7.5 10.0
10 83| 9.4 7.2| 264 ri 8.1 13.0
11 7.3 109| 7.1] 11.6| ri 8.1 12.0
12| 53] 82 29 5.9 12.0
13 5.7 7.8/ 4.8 3.4| i 4.7/ 8.0
14| 4.8/ 6.6/ 3.1 0.8] ri 3.00 5.0
15| 52| 7.2 35/ 6.2 ri 7.3 12.0
16 3.1 74| 03] 0.0] ri 3.2 8.0
17| 59| 8.2 3.4 82| rii 7.0l 13.0
18| 1.6/ 6.0 -0.2| 3.3| i 8.3| 17.0
19 1.0] 25| -0.1 0.8| sn 2 11.1] 18.0
20| 2.0/ 47 -12| 0.5 sl 16.5| 22.0
21 1.1 22| 0.5 13.3| 18.0
22| 03] 2.0/ -3.8 4.3 11.0
23| 39| 84| 0.0 78 sl 9.9| 18.0
24| 2.0/ 5.0/ -23 4.8 sl 2 11.5| 17.0
25 1.7] 3.0/ -0.8 9.6/ 15.0
26| 2.0/ 42| 1.2 15.8] 20.0
27| _-2.0/ 5.0| -4.0 11.3] 20.0
28| -18] 03] -4.3 8.7 20.0
29| -02| 2.0 -3.8/ 21| sn 3 2 3.7, 7.0
30l 03] 3.3 -3.1 0.0| sn 2 5.2] 12.0
31 23| 5.5 -2.7 2 29| 4.0
Medalhiti = 3.2°C
Fravik frd medaltali 1961-90 = 3.2°C
Medalhamarkshiti = 6.0 °C

Medallagmarkshiti = 0.5 °C
Urkomumagn = 143.3 mm

Hlutfall rkomu af medaltali 1961-90 = 91.0 %

Medalvindhradi =
Sélskinsstundir =

8.0 m/s
NaN klst
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